normalized X2

107}

1072

107

10

10°°

Entries
Mean 1145
Std Dev

[[normalized x? probability ]

Entries

0.06f -5+ -wk-erinesine i
0.05

- [Entries
Mean 0.5245
Std Dev 0.314;

fo| FETTINTETE FETRI FRUT IRTTIATRTE FUTT] FART FRTE1 ST

1008

10

Rati

Ratio

0.

02 4 6 & 10 12 14 16 18 20
2

o 0 010203040506070809 1
Prob(x?)

m=m== DQM_original_originalvector_1000evt

e DQM_fit_cpeOK_SORTRZ2_TESTOUTLIER5_1000evt
m—— DQM_fit_cpeOK_SORTRZ2_TESTOUTLIER6_1000evt

A2

5 3 : : : : :

= r . . . . .

S L8 R R A R .
(VAN NC ol S e Rl R

1.4

1.2

0.8

0.6~

.,...,_....
el
-

e
T[T T T

#

100

Ratio

TR

0.5

+I=H++§|H+H++H i Hh é*ﬂh

< x2/ndf>

g
w
TR

Ratio

< x?/ndf>

Ratio

10°° 1072

-1
AR(track, je}[g)



	Contents
	Page 1


